Figure 1s. Air current direction and velocity in the central sagittal plane
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Figure 2s. Air current direction and velocity in the central coronal plane

[Single-axis room] velocity (cm/s) [ Double-axis room]

L1 11 m LI [I°] 1 L1111 11
4 4 140 39 42 9 39 11

77 a1 34 38 40 a0 4 '

L

100 ss 7 W56 s

a - -9 - - . - 0 -
10 . 15 . 55 . 13 23 . 47 .31 . 2. . 8 .6 . .5 . 44 | ].34 . 38 30 . 43 . 6. .5

.11 . .20 | 55 ) 18 |38 | 52. 16.). 2. . 13

PR [V e [ I N D

17 BRI S S A S S
00 ISR P ‘32 . 47. . 18 . 6. . 9

=
S
N
w
C g
.o
N
(@)
w
N

Ga--a--T--T----o--?--Q--v
14 . .11 - 38 - 37 - 40 37 - 36 - 16 - 6

o
(o)}
wO
w
me-
(o]
H“i}
(o)
LA'-;-”-O'
w
w o
o
N«
w
e
[y
= <o
(0]

6 - 42 - 136 - 41 37 - 36 - 100 - 12

1100

k)

(o]
e
O

Q)

~o - @ - o
®
k)
-
B

23 30| ‘%4' - 40| 21 14 7 20 37 | 30 25 28 | 42| - 170 - 8

[EEN
~
s
.
N
(2]

O -0 - - 0 -

800 R - AEE SR SO -
.29 .32 .28 ?FT_.ZU_ .—|32...4Q2..38. o 21

20 732 . 30 .'Ff—?z;——‘fiéi s 32 .17

No measurement at X5in - o R No measurement at X1 and
H2900 and 2600 because - e T X9 in H2900 and 2600
of conflict with axis . 5 © o Ce because of conflict with axis




Figure 3s. Air current direction and velocity at a height of 2,900 mm

velocity (cm/s)

[Single-axis room] [ Double-axis room]

<
~N
<
~N

...--

N

o
e
#
w
B
w
B -
e
Hf’
e
Ea

/

o

Soﬁ | ﬁ ﬁ59. 60

$ ﬁ_ ﬁ ﬁ ﬁ SORFE | FES i

40 40 45

<
(=)]

f =N
o

-

[R=y
O .
~

11

I
<
(o))
(0]
4.>ﬁ
N9
B -
w
SN

<
(%]

7
38 42 38 37 35 7 4

<
(6]
——00
]

12 1 4 40 39 42

11 ﬁii__ﬁ46 6 13 43 9 9
J 58 7 < >1C1::55:5f::4‘
4 5 26 8 12|| k28 -

S 6 60 47 69 49 62

<
w

37 42 38 38 36 7 8§

|
v
<
w
N
oY
|

‘ v

5 40 41 43 40 40 14 ;12

<
N

<
N
W
<]

LN

42 41 46

<
[

N)-
N
w
(00}
=
i
-
o
[EEY
=

-67‘ 132 72 57 62

<
[
O
=
[y




<
~N

<
(=]

<
(%]

<
w

<
N

<
-

Figure 4s. Air current direction and velocity at a height of 2,000 mm
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Figure 5s. Air current direction and velocity at a height of 1,200 mm
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